molex

one company » a world of innovation

This document was generated on 04/05/2010

PLEASE CHECK WWW.MOLEX.COM FOR LATEST PART INFORMATION

Part Number: 0586910020
Status: Active
Description: HMC™ Rectangular Industrial Panel-Mount Bracket, Multi-Module Type, 36 Circuits,
Type B Polarization
Documents:
3D Model Product Specification PS-58691-004 (PDF)
Drawing (PDF RoHS Certificate of Compliance (PDF)

Agency Certification
TUV

General
Product Family
Series
Application
Component Type
Product Name

Type

Physical

Circuits (Loaded)

Circuits (maximum)

Durability (mating cycles max)
Lock to Mating Part

Material - Metal

Material - Plating Mating
Material - Plating Termination
Orientation

Packaging Type

Panel Mount

Pitch - Mating Interface (in)
Pitch - Mating Interface (mm)
Pitch - Term. Interface (in)
Pitch - Term. Interface (mm)
Plating min: Mating (pin)
Plating min: Mating (um)
Plating min: Termination (uin)
Plating min: Termination (um)
Polarized to Mating Part
Temperature Range - Operating
Termination Interface: Style
Waterproof / Dustproof
Waterproof / Dustproof Type

Electrical
Current - Maximum per Contact
Voltage - Maximum

Material Info

Reference - Drawing Numbers
Product Specification

Sales Drawing

R72081037

I/O Connectors
58691

Panel-Mount
Panel-Mount Bracket
HMC™

N/A

36

36

50

Yes
Brass
Copper
Copper
Vertical
Bag
Screws
0.000 In
0.00 mm
0.000 In
0.00 mm
20

0.5

20

0.5

Yes
-55°C to +125°C
Surface Mount
Yes
IP65

12A
250V AC

PS-58691-004, RPS-58691-003, RPS-58691-004,
RPS-58691-005
SD-58691-002

Series
image - Reference only

EU RoHS

RoHS Compliant by
Exemption

REACH SVHC

Not Reviewed
Halogen-Free
Status

Not Reviewed

Need more information on product
environmental compliance?

China RoHS

Email productcompliance@molex.com
For a multiple part number RoHS Certificate of
Compliance, click here

Please visit the Contact Us section for any
non-product compliance questions.

Search Parts in this Series
58691Series

Mates With
58687-0020 hood bracket, 58696 hood

Use With
51201 dust cover, 51192 housing, 51193
housing



http://www.molex.com/molex/products/datasheet.jsp?part=active/0586910020_IO_CONNECTORS.xml&channel=Products&Lang=en-US
http://www.molex.com/molex/part/partModels.jsp?&prodLevel=part&series=&partNo=586910020&channel=Products
http://www.molex.com/pdm_docs/ps/PS-58691-004.pdf
http://www.molex.com/pdm_docs/sd/586910020_sd.pdf
http://www.molex.com/datasheets/rohspdf/0586910020_rohs.pdf
http://www.molex.com/molex/products/listview.jsp?query=58691&sType=s
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/cmc_upload/0/000/-12/201/EU_RoHS.html#eurohs
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/cmc_upload/0/000/-12/201/china_RoHS.html#china
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/webcontent/contact/reach.html
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/webcontent/contact/halogen_free.html
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/webcontent/contact/halogen_free.html
mailto:productcompliance@molex.com
http://www.molex.com/molex/electrical_model/rohsCoC.jsp
http://www.molex.com/molex/contact/mxcontact.jsp?channel=Contact Us&channelId=-7
http://www.molex.com/molex/products/listview.jsp?query=58691&sType=s
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=p&query=0586870020
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=58696
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=51201
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=51192
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=51193

This document was generated on 04/05/2010
PLEASE CHECK WWW.MOLEX.COM FOR LATEST PART INFORMATION



10 9 | 8 | 7 6 5 4 | 3 | 2 1

BE B 2 ME oF
NO. PART NAME QaTy. MATERIAL ARTICLE
@ M2.5x6 /\REESMNTQL] 4 | Ni Xy
M2.5X6 SCREW STEEL Ni PLATING
Z- ®4u4 @ EI)&I’E’GJP?NBJ 2 %ZE%{E%S%TEEL
P — IS5URg—=F)L i [
. % @ GRojUND ’;EQRMINAL 2 BRES@S N[F“PEXT)ING
PREVENTION KEY —)\— “~JJLOA
y @ ?UBBER ! NBFL\ )
PR Lol FIL OB
o o @ RJECEPjTO?C?E)SH{LL) ! XL)U!\MNIU!\FAj ALEIO%
LECTAL . .
H ®)| HZZ B
| @ M3X5 ) \REE(IRl | » | & NT Xy
‘ o M3X5 SCREW STEEL NI PLATING
‘ |
. | ~ ERHREIA L —
A Bl e - t+ £
| |
L AL
| NOTES
== 1. BEAYS Y7 REERF
) o APPLICABLE HOUSING AND TERMINAL
BRNT YT BT
APPLICBLE HOUSING APPLICBLE TERMINAL
vy nNuvvys 5b58GS
T PIN HOUSING 51192-0600 (Au PLAT\N;*
| 36.5 VR NRAV A YA 5556GS
SOCKE/T HOUSING 91183-0600 (Au PLAT\N;*
et dd 503193-0600 | 503195-xxxx
T ¥ VT RN NIOVY
RECEPTACLE HOUSING 503194-0600 503196 —xxex
2. M3k LRI Ly B5~-6Bkgf -cm
™~ M3 SCREW RECOMMENDATION TIGHTENING TORQUE : 5~Bkgf -cm
e T 117 w0 N N
< 3. R LYINERD TEIEDWGE. No. SD-58696-003124 5 .
THE PANEL CUTOUT SIZE IS SHOWN IN SD-58696-003.
B 58691-0020
= 586971-%xx0
A 58691-0010
35
= T-5-%%
TYPE |  em o MODEL No.
§ § § GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS THIRD ANGLE
e (UNLESS SPECIFIED) MM ONLY 111 METRIC | © EJpROECTION
EXEX DRAWN BY DATE TITLE
o S8 8|z UNeR o2 M HOSOND 98/04/15 POWER CONN. 36P
B ek o =T CHECKED Y DATE RECEPTACLE SHELL ASS'Y
o =230 30 +£0.25 |Y0.1T0 "98/04/15
S g =0 APPROVED BY DATE
S=S=|y OVER i
a82=53°130 =09 W kesuel 9ss04/1s tolex . MOLEX INCORPORATED
%) % oz § ANGULAR +3 ° MATERIAL NO. DOCUMENT NG. SHEET NO.
Lo ==g DRAFT WHERE APPLICABLE SEE CHART SD-58691-002 1 0F 1
uoo=q MUST REMAIN SIZE [ THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
D o WITHIN DIMENSIONS /\ 5/INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
tb_frame_A3_J_ME_S 9 8 7 6 | 5 | 4 | 3 | 2 EN-02JA(021)

Rev. E 2006/04/15




